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. @ (5 pts) Determine if the polynomials {* + 1, 22 -z + 1, z ~ 2} are dependent or independent.
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- (12 pts) For each of the following, determine whether IV is a subspace or not. If IV is g subspace, then convince
me that it is indeed a subspace and find its independent-number (i.c., dim (V)
exampie showing that one of the axioms fails,
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(L0 pts) Let @y = (=2,1,3),Q; = (4, -2, -6), 0; = (2.0,5), and Iet W = span{Qy, Qy, Qs }.
a) Can we write the point {1,-2,5) as a lincar combination of the points Q. @ and Q37 SHOW THE WORK,
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. (10 pts) LetT: R? — R3 be a linear transformation such that

T((1,1,1)) = (4,1,3), T((1,0,0)) = (2,1,0), and T{(0.0,1)) =(1,0,1)
Find the standard matrix representation, Af, of T'
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Final Exam, MTH 11 I, Fall 2016
(10 pts) Let T : R*™*2 — P, be a function such that
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1. Find the fake-function £ that corresponds to the given function T Use the fake-function F in order to answer the
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a) Find all eigenvalues of 4. Then for each eigenvalue a of 4 find E,
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' (5 pts) Find the value of o such that the points an + v and w are orhogonal to each other in R* where
u=(3,0,-3,0),v = (=1.4,1,-2),w = (4,-1, -4, -4)
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(10 pts) Apply the Gram-Schmidt algorithm to the following points to obtain an orthogonal basis for R3. Do not

reduce the given points to three differcnt points. Apply the algerithm directly on @, 1, Q5.
@i =(1,11),Q:=(0,2,2),and Qs = (0,-2,2).
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